Thest the pair is juxtaposed with another paie, ditferently osiented. as follows:

e

Finally. translated copies of this confignration cover the plane:
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{1 Does T have any indivect symmetries?  Either descnbe onpe or say why
none exists,

(il Dries T have any eotational symmetries? Either describe one or say why
nicbe e#xists.

(1) Write down ey T). the number of tranzlational tile orbits,

(i1 Use appropriate theorems from Section 3 of Cnit GE2 to caleutare n, (7]
Al rl.c{']":l.

(it} Find the incidence symbol of T, and benee its [H number

Imficate che tramslational tile and vertex orbits on the firsf of the fwo magmnifed

portions of T given on page L1 of this booklet (or on a copyof it, if you prefer].

Flace cirefed numbers at the conbees of the tikes 1o milicats which orbit they
belong to, sl wneireled numbers at the vertices 1o indicate the franslational

vertex orbits.
Draw the tile vertex diagram for T,

st the second of the magnifisd portions of T on che back of this booklet
for o copy of it), construct the edge side orbits of T upder the action of the
Sl symmetry group T,

(REMEMBER TO DETACH OR COPY PAGES 9 AND 11 AND
SUBMIT THEM WITH YOTITR. ASSIGNMENT. )
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